ENBUERINZETRES

HERBALEAPMRATHERABU RS

F—ESHE—HN R TEREMIEARR)

(B) SH364H1H

(£) HM4E3H31H

(8837 : F9)
HWENE FHE(A) SRE(B) #ER(A)-(B) %

B 1,180, 000 1,086, 500 93,500
ZHBINA 550, 000 452, 428 97,572

RS EREMBRIIA 46, 415, 000 42, 352, 404 4,062, 596
BEEBINA 11, 687, 000 9,095, 022 2,591,978
=INE=E SN 600, 000 200, 000 400, 000
USE=SI'ON 172,000 79, 000 93, 000

5 | A |BIBERA 1,114,000 858, 800 255, 200
A EESON 607, 240, 000 564, 986, 506 42,253,494

| |mmmuy-exsEgna 2, 858, 000 2,626, 140 231, 860
|| SEERIBE S EIRA 262, 000 249, 093 12,907
B |zoftoiA 4,537, 000 4,040, 850 496, 150
€] [BEEBHRAG (1) 676, 615, 000 626, 026, 743 50, 588, 257
& | EERE 501, 675, 000 473,870, 108 27,804, 892
3| |BEEmw 147,707, 000 137, 303, 029 10, 403, 971
| |EEEs 14, 836, 000 10, 820, 756 4,015, 244
% | |FImEaBEN 3, 450, 000 2,479,449 970, 551
2| S BRI, 600, 000 200, 000 400, 000

H [ HASSRS S BEE 2, 605, 000 2, 440, 056 164,944
B, 780, 000 484,720 295, 280
SR 95, 000 84, 000 11,000

BN EE SIIE S (L DA B 0 0 0
BEEHRHE (2) 671, 748, 000 627, 682, 118 44,065, 882
BEFHESNZAELE (3) = (1) - (2) 4, 867, 000 ~1, 655, 375 6,522, 375
== | IX | 2O thDES B CLBURA 0 0
1 | A [EEREREEIRAGT (4) 0 0 0
= | |[BEEERSZ 5, 650, 000 5, 644, 380 5, 620
- | ¥ | BE AR R 0 0
” | [zothonEEE R R L B S 0 0
& [Fesmmzmat (5) 5, 650, 000 5, 644, 380 5, 620
5 [ mEaesa®E (6) = (4) - (5) -5, 650, 000 -5, 644, 380 -5, 620
O WX [#s E R HAAIRA 18, 775,000 15, 019, 230 3,755, 710
& | A |2 OEERAGT (7) 18,775, 000 15,019, 230 3,755, 770
B | X [EzEESS 7,927, 000 7,878, 855 48, 145
(C |t [z ofthoEshSziEEt (8) 7,927, 000 7,878, 855 48,145
L [zotboEBESRZEE (9) = (7) - (8) 10, 848, 000 7,140,375 3,707, 625
FiEEXH (10) 0
LEESIRTERASE (11) = (3) + (6) + (9) — (10) 10, 065, 000 -159, 380 10, 224, 380
BRI B RS (12) 0 99, 020, 472 -99, 020, 472
LERRINERES (11) + (12) 10, 065, 000 98, 861, 092 88, 796, 092
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